P= 200.000 T=

23000.

C-55
NTOT=6.38E 19 DEBYE=2.08E-07 LAMBDA=1.14E Ol LNLMBD= 2.44

N1=2.53341E 1S N2=1.22279E 19 N3=2.51854E 19 N4=7.43765E 16 N5=1.59057E 11

B
0.
5C0.
10N00.
2500.
5000.
75C0.
10000«
250C0.
50CCC.
1€0GCO.
150C00.

P= 20C.000 T= 24000.

B
O'
500.
1000.
25C00.
50C0.
75C0.
10CC0.
25CC0.
50C¢00.
100000.
15C5C0.

P= 200.000 T=

B
O.
5C0.
1CC0.
25C0.
5000.
7500.
10000.
25C00C.
500NQ.
100CC0.
150000.

P= 200.000 T= 26000.

CM-TAL

0.GCE-C1
"20 13E‘04
-4,2€E-C4
=] «CE6E-C3
-2.13E-C3
~3'sA8E=03
"4026E-C$
-1.C6E-C2
-2.13E-02
-4026E-CZ
-6.38E-C2

OM=-TAU

0.CCE-C1
-20 lgE-C"
-4 .38E-04
=1.C9E-C3
=2+ 19E=03
-3.28E-C3
=4 4,38E=C3
-1.09E-02
-2.1GE-02
-4.38E-C2
-6.57E-C2

GM-TAL
0.00E-01
-2.27E-C4
-4.52E-C4
-1«13E~C3
-2.27E-C3
-3.40E-03
-4 .53E~-03
-1.13E-C2
-2.27E-Q2
-4.53E-C2
-6.80E-C2

2t0CC.

SIG-1

2.38E
2.38E
Z2.38E
2.38E
2.38E
2.38E
2.38E
2.38E
2.38E
2:371E
2.36E

SIG-1

2.52E
2.52E
2.52E
2.52E
2.52E
2.52E
2+5ZE
2.52E
2.52E
Z2.51E
2.49E

SIG-1

2.64E
2.€4E
2.64E
2.64E
2.€4E
2.€64E
2.64E
2.64E
2.64E
2.63E
2.61E

02
02
02
0¢
02
02
02
02
02
02
02

Q02
g2
02
c2
02
02
g2
02
02
02
02

02
02
02
02
02
0z
02
02
02
0z
0z

SIG-2
0.00E-01
T.96E=-02
1 :59E=01
3.98E-01
7.96E-C1
1.19E CO
1.59E 00
3.98E 00
7.95E 00
1.58E 01
2.36E 01

SIG-2
0.00E-01
8.82E-02
1.76E-01
4.41FE-01
8.82E-01

1.32E 00 -

1.76E CO
4 .41E 00
8.81E 00
1.75€E 01
2.61E 01

SIG-2
0.00E-01
9.72E-02
1.94E-01
4.86E-01
9.72E-01
1.46E 00
1.94E 00
4.86E 00
9.70E 00
1.93E 01
2.87E 01

DT=1

1. 54E-06
1.54€E-06
1.54E-06
1.54E-06
1.54E-06
l.54E-C6
1.54E-06
1l.54E-06
1.54E-06
1.53E-C6
1.51E-06

DT=1
1 +75E-06
1.75E-06
1. 75E-06
1. 75E-06
1. 75E-06
1.75E-06
1. 75E-06
1.75E-06
10 7‘0E-O6
1.73E-06
1.71E=-06

DT-1
1.95E-06
1. 95E-06
1. 95E‘06
1.95E-06
1.95E-06
1.95E-06
1095E- 06
1.94E-06
1.935-06
1.90E-06

DT-2
0.00E-01
7.88E-10
1.58E-09
3.94E-09
7.88E-29
1.18E-08
1.58E-08
3.94E-C8
7.87E-08
1.57E-07
2.33E-07

DT=-2
0.00E-01
9.39E-10
1.88E-09
4.69E-09
9.39E-09
1.41E-C8
1,88E-08
9.37E-08
1.86E~-07
2.TTE-07

DT-2
0.00E-01
1.10E-09
2.20E-09
5.51E-09
1.10E-08
1.65E-08
2.20E-C8
5.50E-08
1.10E-07
2.18E-07
3.24E-07

LAM-1
T7T.08E
7.08E
7.08E
7.08E
7.08E
7.08E
7.08E
7.08E
7.08E
7 .06E
T.03E

NTOT=6.12E 19 DEBYE=2.11E-07 LAMBDA=1.21E Ol

LAM-1
7 «.85E
T.85E
T7.85E
7 .85E
7.85E
7 .85E
7.85E
T.84E
7 .84E
7.82E
7.79E

NTOT=5.87E 1S DEBYE=2.15E-07 LAMBDA=1.29E 0l

LAM-1
8.59E
8 .59E
8.59E
8.59E
8.59E
8.59E
8.59E
8.59E
8.58E
8.56E
8.52E

NTOT=5.65E 1S DEBYE=2.20E-07 LAMBDA=1.37E 01

o1
01
01
01
01
ol
0l
Ol
0l
01
cl1

LAM=-2
2.,00E-01
1.84E-02
3 -67E-02
9.18E-02
1 .84E-01
2.76E-C1
3.67E-01
9.18E-01
1.84E 00
3.66E GO
5.47E 00

LNLMBD= 2.49
N1=2.57291E 1S N2=S.83901F 18 N3=2.54595E 19 N4=1.34814E 17 N5=6.73582E 11

01
ol
01
01
ol
01
01
01
01
01
01

LAM=-2
0.00E-01
2.15E-02
4.29E-02
1.07E-01
3.22E-01
4.29E-01
1.078 00
2.14E 00
4.27E 00
6.38E 00

LNLMBD= £.55
N1=2.57892E 1S N2=7.36929E 18 N3=2.53256E 19 N4=2.31817E 17 N5=2.55028E 12

N1=2.55984E 1S N2=5.64124F 18 N3=2.48376E 19 N4=3.80375E 17 N5=8.74864E 12

B
0.
5C0.
1000.
25C0.
5000.
15C0.
100C0.
25000.
5000C.
100C00.
150000.

CM-TAU

0.COE-O1
=2+35E=C4
-4.7CE-C4
-1,18€E-03
-2.35E-03
-3.,53€-03
-4.,7CE-C3
-1.18E-0C2
-2+35E-02
-4.7CE-C2
-7o06E‘C2

SI1G-1

2.75E
2.75E
2.15E
2.75E
2.15E
2.T5E
2.7T5E
2.T4E
2.74E
2.73E
2.7T1E

SIG-2
0.00E-01
1.06E-01
2.12E-01
5.31E-01
1.06E 00
1.59E 00
2.12E 00
5.31E 00
1.06E 01
2.11E Ol
3.14E 01

Dy -1

2, 14E-06
2. 14E"06
2.14E-06
2.14E-06
2. 14E-06
2.14E-06
2.14E-06
2.13E-06
2.11E-C6
2. 0BE-06

DT-2
O OOF'OI
1.27E-09
2.55E-09
6+36E-09
1.27e-08
1.91E-08
2.55E-08
6.36E-08
1.27E=-07
2.52E-07
3. 74E-07

LAM-1
9.31E
9.31E
9.31E
9.31E
9.31E
9.31E
9.31E
9,31E
9.30E
9.27E
9,.,23E

LAM-2
01 0.00E-01
01 2.48E-02
01 4.96E-02
01 1.24E-01
01 2.48E-01
0l 3.72E-01
01 4.96E-01
01 1.24E 00
01 2.48E 00
01 4.94E 00
01 7.37€E 00
LNLMBD= 2.062
LAM-2
01 0.00E-01
01 2.84E-02
01 5.08E-02
01 1.42E-01
0l 2.84E-01
0l 4.26E-01
01 5.68E-01
01 1.42€ 00
21 2.83E 00
C1 5.65E 0C
01 B8.43F 00




P= 500.000 T=

3000.

C-56

N1=1.27521E €8 N2=1.22325FE 21 N3=1.27521E 08 N

B
0.
500.
1000.
2500.
5000.
7500.
10000.
25000.
50000.
100000.
150C€CQ.

P= 500.000 T=

b

OM-TAU SIG-1

0.0CE-Cl1 2.67E-08
-2.14E-03 2067E-08
-4 ,29E-03 2.66E-08
-1.C7E-02 2.66E-08
-2.,14E-02 2.63E-08
-3.21E-C2 2.58E-08
-4.,29E-C2 2.52E-Q8
-1.07E-01 2.01E-08
-2.14E-01 1.42E-C8
-4 .29E-C1 7.77E-09
-6.43E-C1 4.77E-09

4000.

SIG-2
0.00E-01
2+96E-10
5.92E~-10
1.47E-09
2.91E-09
4 .,2TE-09
5.52E-09
1.03E-08
1.15E-08
9.42E-09
7.82E-09

DT-1
-4,08E-17
-4,08E-17
-4.,08E-17
~4,06E~-17
-4.00E-17
~3.90E~17
~Bed TE=17
=27 LE=LT
-1.58E-17
-6.24F~-18
-1.94E-18

N1=2.84718E 11 N2=9.17437E 20 N3=2.84718E 11 N

B
0.
5C0.
1000.
2500.
£000.
75C0.
1000C0.
25000.
500CC.
1000C0.
1500C0.

P= £00.000 T=

CM-TAU SI1G-1
0.00E-01 5.69E-05
-1.66E-03 5-68E-05
-3.232E-03 5.68E-05
-8.32€-03 5.65E-05
-1.66E-02 5.5€6E-05
-2.49E-02 5.42E-05
-3.33E-02 5.24E-05
-8.32E-02 3.91E-05
—10665‘01 20855‘05
=-3,33E-01 1.69E-05
-4.96E-C1 1.07E-05

50C0.

SIG=-2
0.00E-01
7.58E-07
1.51E-06
3.76E-06
7.36E-06
1.07E-05
1.36E-05
2.25E-C5
ZQZSE-OS
1.80E-05
1.56E-05

DT-1
-1.36E-13
-1.36E-13
-1.36E-13
-1+35€~13
=1.32E-13
+1.28E=13
=1oRekE=13
-8.03E-14
-4.66E~14
-2.20E~-14
-9.06E~15

N1=2.65559E 13 N2=7.33949E 20 N3=2.95559E 13 N

B
0.
S5CO.
1cC0.
2500.
5000.
7500.
1CCC0.
25000.
500CQ0.
100000.
150CCQ0.

P= 500.000 T=

SIG-2
0.00E-0C1
7.87E-05
1.57E-04
3.89E-04
T.54E-04
1.07E-03
1.34E-03
2.06E-03
2.03E-03
1.63E-03
1.42E-03

DT-1
-1l.76E-11
-1.76E-11
-1.75E=11}
-1l.74€E-11
=1ls69E=11
-1.62E~11
-1.53E~-11
-9.82E-12
-5.53E-12
=3+.10e~12

~=1+55E~12

N1=6.62184E 14 N2=6.11623E 20 N3=6.62184E 14 N

B
0.
5C0.
1000.
25C0.
5000.
7500.
100C0.
25000.
500C0.
1¢0000.
150000.

OM-TAU S16-1

0.00E-01 5.38E-03
-1.38E-C3 5.38E-03
-2.77E-C3 5.38E-03
-6.52E-03 5.35E-03
-1.38E-02 5.24E-03
-2.08E-02 5.07E-03
-2.717E-C2 4.86E-03
-6.6ZE-02 3.59E-03
-1.38E-01 2.€61E-02
-2.17E-01 1.72E-03
-4.15E-C1 1.15E-03

€CO00.

CM-TAU SI1G-1

0.00E-01 1.03E-01
-1.20E-C3 1.03E-01
-2.40E-03 1.03E-01
-5.99E-03 1.03E-01
-1.20E-02 1.01E-01
-1.80E-02 9.75E-02
-2.40E-02 9.38E-02
-5.995-C2 1.06E-02
-1.20E-C1 5.14E-02
-2.4CE-C1 3.72E-02
-3.,59E-01 2.62E-0¢

S1G-2
0.00E-01
1 .44E-03
2.87E-03
T.11E-03
1-38E'02
1.56E-02
2 +46E=02
3.76E-02
3,.79€E-02
3.17E-02
2.,75E-02

D¥ =1
-3.95E-10
-3.94E-10
-3,94E-10
-3.91E-10
_3082E-10
-3.68E-10
-3.51E-10
-2.39E-10
-1.31E-10
-8043E-11
-4,85E-11

D=2

2.00E-01
-5.87E-19
-1l.17E~18
=2:92E~18
=3 T5E=18
-8.42E~18
=1.09E~17
=1=9SE=1T
=-2.00E-17
=14 39E=17
-1.03E-17

DT-2

0.00E-01
-2+31E=15
-4.62E-15
-1.15E~-14
-2,24E-14
-3.,23E~14%
-4-105-14
-6055E-14
-6.03E~-14
-4.11E-14
-3.01E-14

0T-2
0.00E-01
-3.30E-13
-6.58E-13
-1.63E-1Z
-3.15E=-12
-4.4TE-12
-5.56E-12
-8.14E-12
-T.37E~-12
-5.07E-12
L T d S 1

DT-2

0.00E-01
-6063E-12
=1:33E+17
-3,29E~-11
-6+.38E-11
“9.14&’11
=1-156+10
-1¢76E‘10
-1.68E-10
-1.24E-10
-B.44E~-11

LAM-1
4.,21E-10
4.21E-10
4.21E-10
4.21E-10
4.19E-10
4.,17E-10
4014E-10
3.83E-10
3.25E-10
2.48E-10
2.17E-10

LAM-1
1.11E-06
1.11E-06
1.1lE‘06
1.11E-06
1.11E-06
1.10E-06
1.09E-06
1.00E-06
8 .55E-07
6.58E-07
5.61E-07

LAM-1
1.32E-04
1.32E-04
1.32E-04
1.31E-04
1.31E-04
1.30E‘04
1.29E-04%
1.17E-04
1.00E-04%
7.78E-05
6 +.43E-D5

LAM-1
2.57E-03
2.57E-03
2.57TE-03
2.58E-03
2.60E-03
2,63E-03
2.66E-03
2474E~-03
2.48E-03
10976‘03
1.54E-03

NTOT=1.22E 21 DEBYE=3.35E-02 LAMBDA=2.40E 05 LNLMBD=12.39

LAM=-2
C.00E-01
2:23E-12
4.4TE-12
laldE=11
2.21E-11
3.28E-11
4.31E-11
9.21E-11
1-30E'10
1047E—10
1.46E-10

NTOT=9.17E 20 DEBYE=8.18E-04 LAMBDA=7,83E 03 LNLMBD= 8.97

LAM-2
0.00F-01
6.24E-09
1.25E‘08
3.11E-C8
6.,15E-08
90065’08
1=18E=DT
2-40E-07
3.34E-07
3.75E-07
3,73E-07

NTOT=7.34E 20 DEBYE=8.98E-05 LAMBDA=1.07E 03 LNLMBD= 6.98

LAM=-2
0.00E-01
7.55E=-07
1.51E-06
3.76E-06
T.45E-06
1,10E+05
1.44E-05
2.87TE-05
3.85E-05
4,28E-05
6.25E-05

NTOT=6.12E 20 DEBYE=2.08E-05 LAMBDA=2.98E 02 LNLMBD= 5.70

LAM=-2
0.00E-01
1.40E-06
2 .80E-06
7.00E-06
1.40E-05
2.10E-05
2.80E-05
6.99E-05
1.39E-04
2.T1E-D4
3.92E~-04




